€ END ANCHOR
BLOCK &
ANCHOR FRAME

P

50 MIN COVER

ROPE 4
ROPE 3

ROPE 2

TOP EDGE OF LEVELLING
PLATE MUST BE AT THE SAME
GRADE AS THE ROAD AND
THE ANCHOR BLOCK.

ANCHOR BRACKET
ROPE 1 (BOTTOM) ON

APPROACH END
TOWARDS TRAFFIC

WIRE ROPE

REEVING THIMBLE THIS
END.
SAFETY CHECK ROPES

2 x M24 STAINLESS NUTS
M24 STAINLESS WASHER

M20 NUTS
3—HOOK BOLTS

F81 FABRIC AT ANCHOR

T
|
2 | 450

DETAIL
NTS

N ) 4
. 4 <4 o
. a4
N v v ’_‘/7—3 OFF M20x550 HOOK BOLTS.
A, 50 MIN_COVER
9 < Lt 4 4.
g . . -
7 4 “q '
4. . a T, .
R . A
ca T v 3
4 g : 4
A A' ) a< .4, )
) . a4 N > B .
. < .. AT
2000 AN SO NANNA SECTION/ B
SR
NOTES:
1. COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS SHALL BE 32MPa.
2. ALL MEASUREMENTS ARE IN mm UNLESS STATED OTHERWISE.
SECTION/ A 3. ASSUMED MATERIAL—INTERNAL ANGLE OF FRICTION @ = 30°
NTS -/ y = 19kN/m?
or/ Cu = 50kPa
4. INGAL CIVIL PRODUCTS MARKETS THIS SYSTEM UNDER THE TRADE NAME
SAFENCE IN NEW ZEALAND.
" NAVE DATE 5765 ARDS RORD PROECT REEREE N
%] Ll MINTO, N.S.W FLEXFENCE WIRE ROPE SAFETY BARRIER ©
P S DRAWN AUSTEC | 2/11/2011 AUSTRALIA 2508
> X
» i CHECKED c 2/11/2011 e ingaciboomat
S 10/12] NOTE 1_32MPa WAS 25MPa DK © DRAWNG AND CONTENTS ARE COPYRGHT T0 | TITLE DRAWING No.
[ [ MTLE BLOCK UPDATED Y i T APPROVED c 2/11/20M
x 2/02/10] INTIAL ISSUE. MS T 5 SOALE NTS 'mHA"P%"; mmﬁ%ﬁ%mmgzuﬁ RECTANGULAR (TYPE 3) ANCHOR BLOCK WR—STD—64
['q
DATE DESCRIPTION DRAWN | CHECKED | APPROVED DRAWING NUMBER | REFERENCE DRAWINGS SzE o PRODUGTS
REV. 3|




